N = 0l & At & Ml A

20188 = S0& A& AMASEIH A
A dot=Z A A
M SEH0 HZZ Aot =EIMA
S 22 BIMY(HLTALSHIN)(HLTMASHEN) CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ASHe T AP A 10,534,161 11,281,534 AT47,373
Xl 3,088,000
[ia 7,446,161
SEXQ 222 Holx=E =HIMA 10,534,161 11,281,534 ANT47,373
Xl 3,088,000
[ia 7,446,161
2 SSM (M-S ALSEIAH ) (4TSS 9,935,361 10,663,534 AT28,173
S AN
Xl 3,088,000
i 6,847,361
s S=3A 433,860 333, 140 100,720
206 M= Hl 131,700 131,700 0
01 =8l 131,700 131,700 0
OAEI ¢ 120, 0002 *670H 80,400
OdeE HEI E5& #+& 90,000 5704 51,300
401 AIEHIZ 28I 302,160 201,440 100,720
01 A& HI 300,000 200,000 100,000
OaZ =3 A 300,000,000 » 14 300,000
03 AIE =2 THHI 2,160 1,440 720
Oadx=EaS=ZA 2,160
Qe+t =79 SEHAY 754,725 1,104,500 A 349,775
401 AIEBIZ 201 8] 754,725 1,104,500 A 349,775
01 A& Bl 750,000 1,100,000 A 350,000
Ot g7 =AY 750,000
03 Al 2 THHI 4,725 4,500 225
OYMMLET 2P HTAY
750,000, 000%0.63% 4,725
B2 HMIAE 1,758,600 1,886,000 A 127,400
201 £B-2%H| 7,000 2,500 4,500
01 At 22l 7,000 2,500 4,500
OO +EA L 2227 A2FA S|
3,500,000& »14! 3,500
Oa==& ZAg=7¢ 150,000 79X »23| 2,100
Oa==& st 100,000 »7H »23] 1,400
206 = Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
o= HIAXH 2 20,000,000 » 14! 20,000
207 A RO H| 19,000 0 19,000
01 A EAHI 19,000 0 19,000
OM4E aEI L HYRS H7SY
19,000, 000& 14! 19,000
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2N Aol AIE A

MM SEXHQ A2 Aotax=E EINM

G U222 ZSAL (AT AMNIBEEHIH ) (AT AIHESES| H) (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 1,712,600 1,863,500 A 150,900
01 Al&H| 1,700,000 1,850,000 A 150,000

OatT 2 MEER U AIZE SA22
300,000,000 14 300,000
OMaTAE BLIHZY =AY
200,000,000 » 1Al 200,000
O EESAY 100,000,000 =1 4! 100,000
okLsa WA A 700,000,000& =14 700,000
OLEEHEI & BESS WHAY
100,000,000& x1 100,000
ONd=E AME F=EHHL Al
100,000,000& x14 100,000
OLAFT M4T SEA 200,000,000 1 200,000
03 AlE 20| 12,600 13,500 A 900
ON4ER Te=7 % AZE RX22
2,160,000 1 2,160
Qa2 SEFAIY 900,000 =1 900
OLs&=Z WHAY 6,300,000& =1 6,300
OLZ: A ¥ 258 WHAY
900,000 =1 900
OE=X & =S A8 F=HEZIAIY
900,000 =1 900
OuaLEEANE 2LHE 2EAY
1,440,000 x 14 1,440

H=Z LBtk 771,418 1,203,930 N432,512
101 Q124 H| 4,000 4,000 0
04 JI2ZtHIZ2 2 NEES 4,000 4,000 0

O ANE H=x= o082 4,000,000 14 4,000
201 et | 507,418 270,430 236,988
01 AP 22| d| 16,450 16,350 100
Ogt4=2H| 8,950
— T2y E 7Y 500,000& = 14 500
—ZAFEH |A22 150,000& = 11CH 1,650
— AMNR2A 29 2,500,000 *2JH 2 5,000
—gXA HT [Y 450,000 *1E %204 & 900
—d22) A= 450,000 =1 x204 & 900
On £y 5,000
- HABHAIDT(HYR)
150,000€ = 10¥ * 23] 3,000
- HABHAILT(HYE)
100,000 = 10¥ * 23l 2,000
O=&H| 2,500
— L2 250,000 x10H 1 2,500
02 2324 490,968 254,080 236,888
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SA: ABIAZAIYA
M SEH0 HZZ Aot =EIMA
te: AH2E SSAMG (AT MSSEIH ) (A4S ALESESIA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O3 & HA 395,468
—d=X2ANE HI2S 350,000,000*1& 350,000
~HATSBH DA 222 N2
8,000,000& » 14 8,000
— &% Ha2H 5,000,000& » 14 5,000
—2HAHSI BEAUMN 48
5,000,000 » 14 5,000
- NSk 7 4,000,000& x 14 4,000
— XNsSX |l 2,000,000 » 14 2,000
— &It = 8,500,000& 14 8,500
— 22 orE 3| 80,000& » 14 80
— 38 2NESE SUMHA 23
500,000& » 1 500
—HAAL R00AY HEELE2
4,752,000 14 4,752
— LAY ALE HEEZ 3,000,000 14 3,000
—HE3H AB =8 4,000,000& » 1 4,000
—AdgsAz 53,000 x12& 636
OA& ZEHI R Xl 95,500
- 2HY DEHelSE |RA2e 2
7,500,000 » 14 7,500
—ATASE Y Y FIIFY
22,000,000& =14 22,000
—OOiD Y AEA B PEHe
11,000, 000& =1 11,000
— =S A AIHEZHIIE FE e
7,000,000 » 14 7,000
—FHE+L =X 2AIEH KX 22(CCTV)
8,000,000& »14! 8,000
—&=F =X L8 |FX2el
10,000, 000& * 14 10,000
— 9y DEMHASE SSME
10,000, 000& =1 10,000
—d+& =X RSHOH S22
20,000,000& =14 20,000
202 Odl 5,000 4,500 500
01 = LHA YI 5,000 4,500 500
OFEF3+Z 29 & HdAX A
3,000,000& x14 3,000
O3 =& ZAl 2,000,000 » 14 2,000
206 M= Hl 18,000 15,000 3,000
01 = tl 18,000 15,000 3,000
O==IA & A=I F 5,000,000& 14 5,000
OHIAT Y (==EHID 5)
10,000, 000& =1 10,000
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A dot=Z A A
Hm: SEMQ BRIR MSAT SEM
te: AH2E SSAMG (AT MSSEIH ) (A4S ALESESIA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ONSHOH RX AZLEFU(HH0l S)
3,000,000 » 14 3,000
401 Al& Bl 28I 237,000 910,000 A 673,000
01 A& HI 237,000 910,000 A 673,000
OaF==Z 248 |X2el Mo
100,000,000& *1& 100,000
OMLZNUEE =LEHl EXSA
35,000,000 =104 2 35,000
OZ&F=ZF AR4 HI| L MAHLH o4
50,000,000& =14 50,000
OL&FZ LEHH HAAY
30,000,000& =14 30,000
Ol 38 QEAEY Y A23872¢
22,000,000& =14 22,000
= =22 439,358 218,378 220,980
201 249 117,358 47,778 69,580
01 At 22/l 55,358 47,778 7,580
Ox=&ZA 49,578
— =2t A 35,0003 *523= #20H A 3,640
—EZEZAM 960,000& »12& 11,520
—ZJEZA 3,200,000& x43| 12,800
— g5 =2HAM 3,300,000& =33l 9,900
— =2 FEZANES EHIAM
537,000& *43| 2,148
—HJIEE8as2 190, 000& *33| 570
—HolelA 2dx=2 3,000, 000& *23| 6,000
~JIEHQA SO HE) 2HaaR
3,000,000 »14 3,000
ozdg=¢ 980
N I CER-2PS=
70,000 *7H 23| 14 980
Oget=&H| 4,800
+EE2SSEEON 2B L2
4,500,000& %13 4,500
— =T AIE OtAig S 24
300,000& » 14 300
02 8323l 62,000 0 62,000
OA& &8l R Xdl 62,000
— 2T Fa2HA/Y)
5,000,000& 43| x1& 20,000
— =X HA(23/4)
15,000,000& 23] x 14 30,000
— =ZANE dEsES=E2AHSI 22
12,000, 000& =14 12,000
206 M= Hl 101,000 92,100 8,900
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2N
X ZH -
L= B

el

MBtET A A
SEXQ BEUZ HOILE 2BNA
ASE BINY(MLEAYSLS

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
01 =8l 101,000 92,100 8,900
O EHl 53,500
—AHA Y AFSOMR SBAY
110,000& »30& *23l 6,600
—d==XaA 260,000 80 20,800
—ASAZ(UHYAMUEE) 2
230,000 x70& 16,100
—AHBAE SESNES ASFL(TE
10,000, 000& =1 10,000
OBz 4l 47,500
—=E2A=I ABE P& 9,500,000 14 9,500
- Y% THEZ FHASE)
10,000, 000& =1 10,000
~ YuE4E 348 DEHBIT 7Y
20,000,000 = 1CH 20,000
— MaY, dEA 42E 7
2,500,000& x13l 2,500
— MHE2AE 23 7Y 1,000, 000& =14 1,000
— dIIME & 225 | 4AM2E
2,500,000 x 14 2,500
— =GSAE etdFR 72 2,000,000 14 2,000
401 AIEHI L 2] 213,000 40,000 173,000
01 A& HI 213,000 40,000 173,000
O =Xl d&Xs==2HZI| &
50,000,000 *304 2 150,000
O &Ael ==Xl MEA F=L&Hl &X
33,000,000% 100 & 33,000
O ddd=& 5 =ZAFI £X 30,000
— AN HREAHSI £X
15,000, 000& 14! 15,000
— =X S§EZHSI| &X
15,000, 000& * 14! 15,000
405 TtabH S| 8,000 0 8,000
01 et ESFH S 8,000 0 8,000
OF=% dXE0IE 2L (It0ctEE)
4,000,000 = 1CH 4,000
OFUE8 &FFaAHSI P2
1,000, 000& = 1CH 1,000
OMSBSNM4LQTS ZHE 2|
3,000,000 = 1CH 3,000
o AEE Bl 37,100 36,800 300
201 Let24d] 32,100 31,800 300
01 At 22/l 17,100 16,800 300
O4=E XN &8E8 Zely 23 & EUY
5,000,000& 14 5,000
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2N Aol AIE A
MM SEXHQ A2 Aotax=E EINM
S 22 BIMY(HLTALSHIN)(HLTMASHEN) CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
Oatx=S NXAN 288 Ty %2l
500,000 *33] 1,500
OM4EQ3 DNA LEIN ST 7
350 *500H x 128 2,100
Qax=EANEZ IHSOIH =22
7,000,000 =1 7,000
Oat== S8 S MEAEX 1,500,000 1 1,500
02 23244 15,000 15,000 0
ON4+TR3 Mis Z278 S+
15,000,000 x 14 15,000
405 KHoHFE S HI 5,000 5,000 0
01 XA 2B F S| 5,000 5,000 0
OIDXAN == Ty Y POA &
5,000,000x1& 5,000
S3hd 22| 830,000 620,000 210,000
201 LBt Y| 800,000 600,000 200,000
02 Z2=2=24%4| 800,000 600,000 200,000
OF Ax=U23 800,000,000& =144 800,000
308 MXISHMSOIA 30,000 20,000 10,000
07 X SHAH2AESZ 30,000 20,000 10,000
O=ssty e 2¢2 30,000,000& =1 30,000
K EHALE 22 A 92,000 90,000 2,000
307 2Iz2to| & 92,000 90,000 2,000
05 QIZ2tREF 2 92,000 90,000 2,000
O 2HE 2= 92,000,000 x14 92,000
ol g1 4] 200,000 144,000 56,000
801 ollgldl 200,000 144,000 56,000
01 Btofl gl bl 200,000 144,000 56,000
Ol 8l gl 200,000,000 200,000
Mg dbkate] 207,300 172,500 34,800
201 et 9| 177,300 157,500 19,800
01 AP 2t 2] H| 8,000 7,500 500
OZTEH , =2y X2 3,000,000 =14l 3,000
OEEZ2 HZ 5,000,000& x 14! 5,000
02 B232%H| 169,300 150,000 19,300
Oatste= =83t 1,300,000& 13| 1,300
OXNsX S50 8,000,000 =1 8,000
OXs X Xd| 4,000,000& * 1Al 4,000
oot == 36,000,000 =1 36,000
Otfz=X, o1& &IIe=2 65,000,000& =1 65,000
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A dot=Z A A
M SEH0 HZZ Aot =EIMA
te: AH2E SSAMG (AT MSSEIH ) (A4S ALESESIA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=XI It d SIS 55,000,000 14 55,000
405 RHoHE S HI 30,000 15,000 15,000
01 AL EFSHSHI 30,000 15,000 15,000
OsXZels g2 30,000,000& =14 30,000
SOHE MEEML(2LXR) 771,000 2,214,286 A 1,443,286
X 540,000
[ia 231,000
401 AIEHIZ 28I 771,000 2,214,286 A 1,443,286
Xl 540,000
s 231,000
01 A& Bl 768,300 2,206,315 A 1,438,015
O22XF sHELEES LAY
768,300,000 768,300
Xl 540,000
= 228,300
03 Al =20 HI 2,700 7,971 A5, 271
O22XT sHELEES LAY
771,000,000%0.3501% 2,700
SHEMEBES NS (ZXXF) 2,000,000 814,286 1,185,714
Xl 1,400,000
= 600,000
401 AIEBIZ 28I 2,000,000 814,286 1,185,714
X 1,400,000
[ia 600,000
01 A& Bl 1,994,000 809, 155 1,184,845
OZXNFsHELBE SN 1,994,000
Xl 1,400,000
e 594,000
03 AIE 2 0H bl 6,000 5,131 869
OZdXNTsHELEE Y
2,000,000,000%0.30% 6,000
SHEMEESNL (22X F) 813,000 357,143 455,857
Xl 569,000
= 244,000
401 Al& Bl 28I 813,000 357,143 455,857
Xl 569,000
= 244,000
01 A& HI 807,900 354,571 453,329
Osl7sHELEEHY 807,900
Xl 569,000
s 238,900
03 Al 20 HI 5,100 2,572 2,528
OR*NTSOHEMBESNY
813,000,000%0.6273% 5,100
sSHEMEESNY (Z2EXF) 827,000 325,714 501,286
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<

n0

Kio

Hl w

501,286

498,532

2,754

A 19,200

A 19,200

A 19,200

H3r
Wikd
RIS

325,714

323,368

2,346

618,000

618,000

78,000

0l &t o

579,000

Al

i

248,000
827,000
579,000

Xl

i

821,900
821,900

248,000
579,000

Xl

1

5,100
5,100

242,900

598,800

598,800

58,800

401 AIEHIZ 2 I

01 A& Hl

827,000,000%0.6166%

03 A2 2 THHI

o}

i

K

o)
<0
no
3D
[
D

<+

-,

<0

]

H

A 19,200

78,000

540,000
540,000

58,800
31,800
27,000

540,000
540,000
290,000
250,000
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4]

o
2l *
2l *

e

31,800,000
27,000,000

01 Al -
01 Al -




